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Il 14,000
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LOISRAIE K& 2,378,513 1,457,084 921,429
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= 992,523
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L= 680,746
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01 A2 E =03 850,932 0 850,932
OLClMEAld 23| 70,911,000& * 128 850,932
= 680,746
s 170,186

COIMEAIE SESAH K& 5,475 5,476 A
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= 2,738

307 glz2told 5,475 5,476 A
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S AEST B
M Lol =X =&

Sl LOI= AL X & (St5: & 2)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 197,797
WIS AIL BAR SE+Y X2 18,410 15,000 3,410
= 18,410
307 IztolH 18,410 15,000 3,410
= 8,410
02 DIANFHEE 8,410 15,000 3,410
OMIH=QI=AIE BAK SEoY
52,9022 * 2991 * 122 8,410
= 18,410
COIMEAS 918 2,400 2,000 400
01 YLEYI 2,400 2,000 400
01 MEEZELH3 2,400 2,000 400
OL=RAE YHIAS
15,0002 * 809! * 23] 2,400
yzgey 334,280 334,280 0
= 233,996
= 75,350
2 24,934
01 YuBAZ 334,280 334,280 0
= 233,996
= 75,350
2 24,934
01 MIEZELHS 334,280 334,280 0
OBRY 29|
101,666.621 * 274744 * 122 334,280
= 233,996
= 75,350
2 24,934
A2Y 245 XD 123,326 22,000 101,326
201 L2yl 80,000 0 80,000
02 ===l 80,000 0 80,000
OI=EL] 80,000
0S8 ¥2Y gyl X
2000002 * 40074 A 80,000
307 eI2tolH 21,326 0 21,326
02 PAANBE 21,326 0 21,326




S AEST B
M Lol =X =&

@ SosXAIEd K& (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OZ2Y =s|lZz2 d=2elX X
1,777,166& = 121 = 12& 21,326
405 XAHESHI 22,000 22,000 0
01 ANAMNLEEFSHI 22,000 22,000 0
Ont2FRY ALBXIT 7Y
1,000,000& = 1104 11,000
onteRY ¥4I 2Y
500,000& = 2CH = 115™ 11,000
LoIo g =S XAE SAMA S8 16,800 32,520 N 15,720
= 16,800
307 QI2tolA 16,800 32,520 N15,720
= 16,800
02 0OI2tFAE X 16,800 32,520 N15,720
OLQIMEAE SAN S
70,0002 * 209! * 12 16,800
< 16,800
HEt e 3538 22 45,000 12,000 33,000
307 QI2t0lA 40,000 0 40,000
05 QIZIRE = 40,000 0 40,000
Ot =5==% 24|
2,000,000& * 20HA « 10 40,000
405 RAHAHF SHI 5,000 0 5,000
01 L ESFHSHI 5,000 0 5,000
O2IBE2SE /27
5,000,000 * 14 5,000
NAS Lol MEoty 10,547,584 8,527,227 2,020,357
= 8,011,488
= 33,516
& 579,891
o 1,922,689
Cold el Ar 540,340 484,180 56, 160
= 270,170
== 135,085
iy 135,085
101 Q14| 518,602 473,155 45,447
= 259,302
== 129,650
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i 8,550
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= 9,468
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01 AtR2teld 18,938 8,225 10,713
Ol Let2Ad|
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= 9,468
= 4,735
s 4,735
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= 1,400
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01 =LHAHI 2,800 2,800 0
Ol el AE Ne2= bl
20,000& * 20! = 10& * 7& 2,800
= 1,400
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Y=g 108,000 401,400 A 293,400
301 etz 108,000 401,400 A293,400
01 A2 H =03 108,000 401,400 N293,400
O&x=H¢ 30,000& * 300¢! = 123 108,000
LOSE0l U At 112,896 178,545 A65,649
= 91,188
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OLo=20| Ut ™AL
235,200& = 400! = 128 112,896
= 91,188
= 10,854
= 10,854
HEQl FAANS 197,720 252,300 A54,580
= 158, 176
== 19,772
iy 19,772
307 @l 197,720 252,300 A54,580
= 158,176
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iy 19,772
02 0ol 197,720 252,300 54,580
Os | = AFIF A AL
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= 158,176
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= 19,772
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= 21,557
o 10,032
307 @4l 65,105 65, 105 0
= 33,516
= 21,557
iy 10,032
02 0I2+z 4 65,105 65,105 0
OZ2AY
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iy 1,498,391
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= 7,491,954
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OPIESER==
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OZ0lg S10X SAZ2l|
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A= 01 AL A E2| D] 1,600 1,600 0
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CHoll HAS Lol MEOI (Sl &)
SN S(B) - NRAY - B2 O] &k o8 e =2
O=HLol Jl7 424 2229
30,000& * 100MICH = 22l 6,000
307 glz2told 16,900 2,460 14,440
02 QltF&E=X 14,400 0 14,400
OSHUME2AC| AL THAAY ESHI
50,000& * 24921 « 12& 14,400
04 BIZtHALE X 2,500 2,460 40
OsAHke &2 50,000& * 50¢! 2,500
LoXE FH g8 4,360 6,860 A 2,500
201 Lt 4,360 6,860 22,500
01 At 2cld] 4,360 6,860 A2,500
Olgesgy] 4,360
OJIz=g8¢=s 88 SdHate MH
70,000& * 28 » 1104 1,540
OSHEQUMEIITAIIIAAMNY SE2= X
& 70,0002 * 1204 & 840
OLQAFIQYLHIE B HE
90,000& = 28 ~ 1100 1,980
LOIERAE &= 521,818 991,403 A 469,585
= 245,000
& 122,500
= 154,318
LOIESRAIE JIsELAY 490,000 42,500 447,500
= 245,000
& 122,500
= 122,500
402 QIZEXE0|H 490,000 42,500 447,500
=2 245,000
& 122,500
= 122,500
01 QR=Ex 490,000 42,500 447,500
OLRUAE FHIRY
200,000,000 * 2042 400,000
= 200,000
< 100,000
o 100,000
OLQIQY TESMEIIE
30,000,000& * 1JH= 30,000
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SHol: LoISTAL BE (Er9): & 2)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 15,000
= 7,500
i 7,500

4N

OALREIR AL HHIEZ

60,000,000& = 1JHA 60,000
= 30,000
S 15,000
[ia 15,000
T cel=sXg2 =HFHIAE 31,818 35,000 N3,182
401 AIEHIZ =0 31,818 35,000 A3,182
01 Al&HI 31,818 35,000 A3,182
O[&AIEAH ¥ S24AHI] 1,818
O Lo=EXg 2 =H(EE)HE> &
A& A 30,000,000& +* 6.06% 1,818
O[Al&Hl] 30,000
O Lo=EXg2 FH(EE)INE=>
30,000,000& = 14 30,000
SALAIE 2t 19,192 9,918 9,274
ZAAE EE & 2el 19,192 9,918 9,274
101 1A 5,192 3,918 1,274
10 JIZH22ASEF 5,192 3,918 1,274
OZ2&IX E=MAH dFY
34,6108 1021 » 15 5,192
201 LEH2 | 2,500 4,500 22,000
01 AtR2clbl 2,500 4,500 22,000
Oolge=84l] 2,500
OFZMHNE EE2= MH 500& = 5,0000H 2,500
202 044 1,500 1,500 0
01 2ot 1,500 1,500 0
Os82X =& & EX6J &Xl&el
20,0008 » 756& * 1¢l 1,500
301 etE4= 10,000 0 10,000
01 Aal2HH+06l= 10,000 0 10,000
O=td = 100,000& = 100! 10,000
SHEXNIZH2HE(SHAZ) 210,138 183,724 26,414

sHE=lz2=3 2 137,638 128,724 8,914
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M Lol 21X &
el SHEXZ 2P (SHAD) (982
= - bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
201 LEr2HH| 51,638 42,724 8,914
02 ZZ2Z=29H 51,638 42,724 8,914
Ol2222 2 HMA] 51,638
O8Y X3 2222 (HIIZE)
200,000 * 10044 * 129 24,000
OSHEX 52t et
873.752 x 13.3194 = 100 * 10MHA 11,638
OSHEXZZ S
1,000,000 * 109 A 10,000
OSHEXZH ANE2 SX22l
3,000,000 * 20 & 6,000
307 gQI2H0|A 86,000 86,000 0
05 DIHSIES 86,000 86,000 0
OSHEXF 2 Er2te]
860,000 * 10MHA = 102 86,000
SH 2X32 HES 72,500 55,000 17,500
401 Al&HI LY 72,500 55,000 17,500
01 Al&H] 72,500 55,000 17,500
O[Al&HI] 72,500
oSHEXG 2 HEH
14,500,000 * 5014 72,500
HAH B85 U =M 1,758,484 2,085,710 N327,226
= 1,500
= 520,000
[ 2,000
= 1,234,984
HAE =4 172,644 33,710 138,934
= 1,500
[= 2,000
= 169, 144
BAaE NE -85 119,944 4,760 115, 184
201 B2 AH| 2,184 2,000 184
01 AtR22/H] 2,100 2,000 100
Olger4=2H|] 2,100
OHAUEES E8E HE
1,000 = 1,00004 * 23] 2,000
OBAEZE &3 £22 5,000 * 200K 100




od
’J
oF
o)

<t o |Oo o |o o |o (@] o 1o [N Fe] o |o o o
[e0) o o Y] o O [T9) Yo o o o (@]
Al S |2 S S o <
Klo T
E
-
° gle 2|8 71 2177 2|2 g1° 8 g
LA 3r o : o : N )
o
il
RIS
2 ¢ 3|88 =|g|z g|8|8 &|E|glg 8|88 & & gslelg s & & 5 |8 8
NN ol w0 (v o | W NE N — ol © ®» © o <
- |z - | ¥ g & 9« 2
3
<
=
W
ol ol 3l T ol o ol W™ <4 oo
o 3 8 - - oo = = -
D._ x x x x * x *x x — x *x
r — - — - x
_ _ _ R _ oJ o) o) o) or  od
%0 z 2 z S 2y 2 2 g w S g
Bl S x S S MWE * N x ~ 3 P
. - - o - * S
™~ _® S S o8 dwy W s S 8
ol == % S Hg -8 _ % S o 5
= =S o w2 Bk = WS 28 58 . =
< - o — o o - =) o
Ik N = W0 S Wme 2o o x
Ir 4 < 20 s T « S e Lo
= Y I 0 n ior .
. :z :._o _)n_ _J_u_ . A_v L M_. .
= - 4 1 2 o =< 5 o W 50 =
= = . o wr © W N g 0H K]
ol = K < R0 B lm = o) oo o =l mJ 0
= - ol W S|y A i D = 50 R
s ok 00 = 0 = o i3 0 o 0 aor ol Ok K4 o+ K4 n o=
52w © o e L1 L Y 0 0 Sz o®w U Al m M S
B g - w 20 SlE = iy =R w - © <k = R < =z Q3 |
| o =D S (M o Sl 5 nls2 = A TR T TR SR W B/ S W |H
G R =T e N (i (7 R B (o £ SEE A D A4 o4 A YR d A e g
R0 |0 = o R0 M= w Kl Y oS R Mg & ®W R ola ®w o & ®W |=
- |, © ol O |, © © O | o O — O O O - O O O |m
z |8 <A Q[ 218 A1 8|5 3|2 S|y 3 <4
I K0 K0




of
’J
oF
o)

3 8 S 3 S S 38 3 3 2L
= < < — < < N N © ©
o S 3
Klo < <
E
D
3 S 3 3 S e = S S e e
~ < ~ ~ < = S
< < — — — al [
Yo} (ap)
H3r =] >
<) oV ol
KIS
o o o o (@) (@) (@) (@) o o o o o o (@) (@) (@) (@) o o o (@) (@) (@) (@) (=) o (@] (@] o (@] (@] o (@)
S|g 888 888|888/ 8888 888888 888|3 € 8|8 3|88 8
LB o8 v S
3 = = = =
<
=
rH H W Mmoo oo o m o o mw 15T
<4 oY 3l
== (e} o
m (V) [eY)
or x * *
X W o o
) = S 38
: = 53 s
ol =] 80 =
= N e
Ik ) 80
= oll 0H
. - o o
- PR
R oF oF
ol A ol = m =
oF K = ] - K0 M 0w aD -
— Rl oF o T 1 ) - = —
i A oF 50 e 20 o3 ) ol =
P U= ra) oH < ™ - < 0 - 0 R
B N R 0 o R il AR b i Bl T
& m| D A< ) ol o- 3 o) = 3 W b el Y
R |=s|® 3 R 4 ol z R ol ®N = w o |= M
. | O %0 - O - O =< ) - O
T |48 S 3r < S = 2 ) < S
i | ® = <4 %0
)




AN A2 =X

HE: ZAd 25 U 84
ol HAW ALE (E9: &)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
OYATAIROIAIE MARIRS &als
=] 70,0008 * 621 * 23| 840
401 Al&HI 2 = Y| 1,585,000 2,032,000 A447,000
= 520,000
2 1,065,000
01 Al&t] 1,550,764 2,023,705 A472,941
OlA&HI] 1,550,764
OFALA4RD LS 585,000,008 * 1S 585,000
2 520,000
2 65,000
OFAEART A (XH)
965,764,000 * 14 965,764
02 22t 28,836 0 28,836
OFAESUB AETAN FIHZ2IS2AHI(
) 28,836,000 * 141 28,836
03 Al&=CHH] 5,400 8,295 A2,89
OFAESSB AEZA 2OHHI(XHH)
1,500,000,0002! * 0.36% 5,400
FHONE OlS 25 2,008,940 1,856, 189 147,751
= 392,852
= 604,702
= 520,508
2 485,878
NEOIEES 732,900 522,815 210,085
= 468,400
= 141,980
2 122,520
OISMEAIL 22l 4,540 4,540 0
01 YsrpaZ 4,540 4,540 0
01 MEEZEL62 3,400 3,400 0
OYNHY YRS 20,0009 * 859! * 23] 3,400
10 BAHAHIRAS 1,140 1,140 0
OOISEXAIL BAX DS EHaBA
30,0002 * 621 * 33| 540
OYHY oS4l HM2y
40,0009 * 159! 600




A A2 =X
g3 FHAAHSE Ots 2=

ool NEOERES (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
AMEOts eSS 2,000 2,000 0

& 1,000
= 1,000
301 erEa= 2,000 2,000 0
= 1,000
= 1,000
01 AIE2EHE =63 2,000 2,000 0
OAlZ0tEs Ustdst = 1,000,000& * 22! 2,000
= 1,000
i 1,000
ANEOls dEs= 11,600 11,520 80
= 5,800
i 5,800
307 QIZt0IA 11,600 11,520 80
& 5,800
= 5,800
02 QtFAE X 11,600 11,520 80
OAH0tS deEs=
12,083.3& » 802! »12& 11,600
= 5,800
[ 5,800
AMEOtS dEEF 28 17,760 19,200 A 1,440
& 8,880
i 8,880
307 QIZt0IA 17,760 19,200 A 1,440
= 8,880
= 8,880
02 QtFAE X 17,760 19,200 A 1,440
ON&OtS HEE 2
20,000 * 7491 « 12& 17,760
< 8,880
i 8,880
A&E00t ANEFEZ 3,000 2,000 1,000
& 1,500
= 1,500
307 QIt0IA 3,000 2,000 1,000




A A2 =X
g3 FHAAHSE Ots 2=

ool NEOERES (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told S 1,500
2 1,500
02 BlZtFAE=X 3,000 2,000 1,000
O&4&FN0L HEEEZ 1,000,000& * 3¢! 3,000
= 1,500
i 1,500
OtsEXAIE AL EEE 24,000 23,520 480
& 24,000
307 QI2told 24,000 23,520 480
L= 24,000
02 QtFAE X 24,000 23,520 480
OOtS=XAIE SAL EEE
100,00081 * 200! * 128 24,000
= 24,000
Ors=XAld 2341 XI& 667,000 458,035 208,965
&2 466,900
= 100,050
= 100,050
307 QI2t0IA 667,000 458,035 208,965
= 466,900
= 100,050
= 100,050
02 QtFAE X 667,000 458,035 208,965
OO0ts=EXAlE 2Hl X&
55,583,333& * 12& 667,000
=2 466,900
= 100,050
i 100,050
ElA0ts NEEEHS X2 3,000 2,000 1,000
2 1,500
= 750
= 750
307 glz2told 3,000 2,000 1,000
&2 1,500
= 750
s 750




A A2 =X
g3 FHAAHSE Ots 2=

ool NEOERES (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
02 SlZtFAE=X 3,000 2,000 1,000
O&ax0ts NEEEZ XA
1,000,000 = 32! 3,000
= 1,500
< 750
i 750
HLAS0ts=R 1,271,040 1,333,374 AB2,334
= 392,852
= 136,302
= 378,528
= 363,358
L2EAH AEINEHOIS K 5,830 5,830 0
301 YBtEa= 2,830 2,830 0
01 AMSIEEEH=H3 2,500 2,500 0
OAEAHINE R2HAXA
100,000& = 25 CH 2,500
10 dAIAMHIEAZ 330 330 0
ORY0oelol E2Al A2y
50,0002 * 39! 150
OALEAHINE +H3 HFABH
30,000& * 6¢! 180
307 QIt0IA 3,000 3,000 0
04 CIZtHALE X 3,000 3,000 0
OAEAHIE At et AL
3,000,000& = 13 3,000
LESOIsSEZ A 37,440 40,680 A 3,240
= 26,208
& 5,616
= 5,616
301 dotEaz 37,440 40,680 23,240
= 26,208
& 5,616
= 5,616
01 ASIBEE=0H3 37,440 40,680 A 3,240
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301 YEtEa= 2,100 0 2,100
= 1,050
= 525
= 525
12 JIEI2 A3 2,100 0 2,100
OXHIXHZAIE 23 35,000& * 602! 2,100
= 1,050
= 525
i 525
HY 2 ZHI(ALSI S XID) 63,194 60,710 2,484
Jl23l 58,994 56,510 2,484
Fa==A2el 3l 25,295 24,090 1,205
201 LEH23H] 15,740 14,990 750
01 AtR2teld 15,740 14,990 750
Olger+=&Hl] 11,550
ORAN2E SHHA 11,550,000& = 14 11,550
Ol=&Hl] 4,190
OFN2E SHUAH L 4,190,000 = 14l 4,190
202 O4Hl 9,555 9,100 455
01 3L 9,555 9,100 455
ORH2E BAAY 9,555,008 * 144 9,555
Ots&Ead el 3l 10,210 9,890 320
201 Lt 6,430 6,290 140
01 At 2eld] 6,430 6,290 140
Ol st +=HI] 3,500
OFN2ZE SHUAH L 3,500,000 = 14l 3,500
Ol2ul] 2,930
OFRN2E SHUAHL 2,930,000& = 14l 2,930
202 O4dl 3,780 3,600 180
01 3L 3,780 3,600 180
OFRNMESE SHH & 3,780,000& = 14l 3,780
HEZzae| 3l 12,432 12,000 432
201 LAY 6,720 6,560 160




AN A2 =X
HH: HH2AZHI (A SR

ool |22 (S 5e)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
01 AtR22id] 6,720 6,560 160
O[det=g4l] 3,360
ORANESYE SHH L 3,360,000 * 14 3,360
Ol2&Hl] 3,360
OFRANESYE SHH L 3,360,000 * 1A 3,360
202 OiHl 5,712 5,440 272
01 =2WAbl 5,712 5,440 272
ORNM2Y SHA A 5,712,000 * 14 5,712
Pl A2t Al 11,057 10,530 527
201 829y 5,576 5,310 266
01 AtR22ld| 5,576 5,310 266
Oldet=gdl] 2,646
ORANESYE SHHL 2,646,000 * 14 2,646
Ol2%Hl] 2,930
ORANEZ SHH L 2,930,000& * 14 2,930
202 O] 5,481 5,220 261
01 =2WAbI 5,481 5,220 261
OFRA2E SHA A 5,481,000& * 14 5,481
ol 2A 4,200 4,200 0
ol 2| 4,200 4,200 0
203 YRFEH| 4,200 4,200 0
04 ENSIYERF=ZEHI 4,200 4,200 0
OAE =X BH2IERFEH
350,000& = 12& 4,200
MEE S (A2 =2XD}H) 100,000 50,000 50,000
WEHNHX = 100,000 50,000 50,000
HAEagEIIZ2 =4 100,000 50,000 50,000
702 JI2HEE2 100,000 50,000 50,000
01 JI2&E=2 100,000 50,000 50,000

OdedII=z HE= 100,000,000& * 13 100,000




